
https://www.pass2lead.com/vcpn610.html
2024 Latest pass2lead VCPN610 PDF and VCE dumps Download

 

 

 

VCPN610Q&As

VMware Certified Professional – Network Virtualization

Pass VMware VCPN610 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/vcpn610.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

 

 

VCPN610 VCE Dumps | VCPN610 Practice Test | VCPN610 Exam Questions                                1 / 3

https://www.pass2lead.com/vcpn610.html
https://www.pass2lead.com/vcpn610.html
https://www.pass2lead.com/vcpn610.html


https://www.pass2lead.com/vcpn610.html
2024 Latest pass2lead VCPN610 PDF and VCE dumps Download

QUESTION 1

Which NSX component provides the ability to provide East-West distributed routing for virtual machines in different
subnets without having to traverse the physical network? 

A. NSX vSwitch 

B. NSX Edge 

C. NSX Controller 

D. NSX Distributed Firewall 

Correct Answer: B 

 

QUESTION 2

In a data center using a leaf and spine architecture, which two statements define the connectivity between the leaf and
spine tiers required to provide optimal network connectivity for NSX? (Choose two.) 

A. Links are required between leaf and spine switches, and from each spine switch to other spine switches in the
architecture. 

B. Links are required between leaf and spine switches in the architecture to form a point-to-point connection between
the two tiers. 

C. High availalability and scalability should be achieved using NSX High Availability. 

D. High availability and scalability should be achieved using Equal Cost Multipathing (ECMP). 

Correct Answer: BD 

 

QUESTION 3

A company has augmented its Data Center infrastructure by using vCloud Hybrid Service during peak hours. The
company wants to extend their existing subnets into the cloud while workloads retain their existing IP addresses. The
virtual machines in these subnets use an NSX Edge Gateway as their default gateway. 

Which solution should this company use? 

A. Layer 2 VPN 

B. MPLS VPN 

C. IPSec VPN 

D. SSL VPN 

Correct Answer: A 
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QUESTION 4

Which three network policy settings can only be configured on a vSphere 5.5 Distributed Switch? (Choose three.) 

A. Access Control Lists (ACLs) 

B. Network I/O Control 

C. LACP v2 

D. NetFlow 

E. DSCP Marking 

Correct Answer: ACE 

 

QUESTION 5

A company wants to deploy VMware NSX for vSphere with no PIM and no IGMP configured in the underlying physical
network. This company also must ensure that non-ESXi hosts do not receive broadcast, unknown unicast or multicast
(BUM) traffic. 

Which replication mode should the logical switches be deployed with? 

A. Unicast Replication Mode 

B. Multicast Replication Mode 

C. Hybrid Replication Mode 

D. Transport Zone Mode 

Correct Answer: A 
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